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Rewind

Given the graph, identify the following characteristics:

1) Vertex

2) Domain T

3) Range

Challenge: Interval of increase
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Operations of Complex Numbers
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How do we remember the pattern?
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How do we divide complex numbers2
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What is a conjugate? were
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Find the complex conjugate and multiply.
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How do you simplify rational complex numbers?

7
Case 1:
Monomial in the denominator- Multiple numerator and denominator
By 00
_2—-:‘ = :0\ = —"i S & l ok—l—
Q\ -\ 9{\& —& X a
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Case 2: | —3i

Binomial in the denominator - Multiply numerator and denominator
by the COW\?QS (<A
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Board Work

SetA#1-6
(44) — (-1 +4)

4+(1-i)
(2-8i)- (i)
(3+8i) +(6+4)
(7-5i) + (-8 - 6i)

(1-6i)+(-3-6i

Board Work

SetB#7-11
(-4 +51)’

(4 + 5i)(8 + 8i)
(=3 - 3i)(2 - 2i)

(3+20)(51)(3—27)

Challenge:
Q+HE-DE+NGB-1)
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